BE [(39437) 345216+ I L2+ 3 -T)+ (PP : 4] =

- [(32-2}-3—1+{62+2-3):6]:{[3-5—-{42—13}]:{(4'2+221::‘i]}=

BF 22 -3):2-(3 4+ AP - [3- 54 - 2P 152 -13):(2- )P =

FE [(52-37-2)2+42-5]:3-[(3%)°: 39— [(3- 2262+ (15: 50 |: 5=
)% [(2243%:32P2 462 (7-3-6-3P —52]: (2% - 32): (22 - 3)] =

T (13 112 (43 + 52+ 1)) (72 +62 =39 L) [(32 —5)- 3—(42 -1 1)- 2] =

G [18:6% +3):(37 — 4)+(52 - 52267 =314} {{(5? ~ )~ (42 4 ) — (27 + 2)} =
&9 {22 8- 2] 5= (22 1)+ [(52 +2): 9] — (22 - 3)+ {102 :52)} 1 (42 - B) =

%fﬁ {[(243%) 5:11H{5*—22.5) 2]:(4% -13}+[(67 —4%)-3+6):11+2*}:3=
T 7241 (2 B)F H(67 +4): (37 —1)4(37 - 20 167} - [(72 + 2120 + 1)) =

%& (L2 +7) 7+ 220 (2-5) A182 =1 1- 4} [(6% + 52 —1): 6 - 23]} =

Bl ((32—4+2)-34[(62 :32): 22 +(72 = 32 5= 24 [(22 —1)- (42 —1 1]} :[(52 — 4): (28: 22)] =

T 32 (3% +1): 22 4(52 — 2-5): 34(62 = 3.5): (351 5)]:[(5% - 24 5): (4 — 5)]} =
DE (132 4+1)-(32 - 5P + (57 — 237} {[(57 +2-5): (21: 3)F —(60+ 3. 5): 15} =
TV 17+22+3):3P +[(5? +29):2—(7- 510} :[(42:6 -4 -2+ 20 :8]=
HHD (357720012 - 25— 8: 4)]—[(22 — 4)- 3]+ (42— 3)+ (27 4 29): 24 (37— 57)
DN 22 [[(BBP (32341~ (3-6) (22— 2)+(22 5132 52 |3 423} =

AR (67 =3-2): 241+ (52— 32)]— (22 +3)-5—-2-5]}-[12: 547 2— (13-5+22)] =

REE {32 -1)- 54 (10— 22)- (15: 3)]+[(52 +2-5): (22 —3)]): 122 -5416): T+ (5% - 4):T]=

AL (122 43)(32 - 4)]- (32 -5)H[(62 ~2%)— (2- H1}: {77 — 22): [(6-5+15):5T) =

5D (3222 21 1)+(35:39)+ 20 (152 32): 5]: [[(3%)2 139 4 (52 — 2))~ (32 4 1)4 5} =

DB {374 2-3)4[(77 1771+ 42 —3]+[(22)2 58— 6]+ 62 — 31} :[(7-3-5)+ 2] =

AET (3P 34111+ 25452 45 (28 1) 24(6% = 2-32): 3} [(5% - 24 22 4. 2): (57 +10=7)] =

G 122.34(15:5)2+(52 42): 314[(62— 2): 2+ (52 - 4):10+ (42 —1):5] =

D 224532 22) 4 14 ({3343 -5): 74 (42 -2-3): 24 25 +1]: (32 42} =

G 52 g (42 —AY]- L5117 4 2]+ [(62 — 25): 20} :[(22+ 2)- (48:2) 4 (52 4+6—3-5-2)] =

T (22340 1B )67 —(7- 5 {1134 2)- 2432 4 5): (3454 22)) =

TG 45 38) (3 AR P20} {[(45-43): (47)7 + (32 —7)* — 2L (72 4 D)1 T—1]} =

(3]
2
(5]

[12]

116]

[14)

[27]

2]

[e9] -

180

33]

(Bl
I
i4]
[27]
[60]
134]
13]
(1]

116

13



Calcola il valore delle seguenti espressioni aritmetiche applicando dove possibile le progprieti delle

potenze.

61 [i50-75:745.(92-80)5.28:24
r.mégrmh ”2 * 3? : 35 i [-'_:'z L 2 - .?2.," - ]ﬂ] +5I'_'|. : 54]

63 0 |[260.257 4 33 _46 ;44 + (26-32.22. 33) + 94 52] :33 + 4]

2 Pl ——

___6,4,,,,.,- Bi32422-15):02343.22-4%

65 _§22.7:[5-6:5-(35:34.5 —33:3-23:2):7

66 B(25 24:(3.7-13)-[85-52-(22-35:33+23)-0%):8
:_Mlqmﬁ-3::[22~3-{4a?—m—32}492-42:121:32}]]
._;_E_ﬁ_,,__lmﬁ:24_2}+4:16—4:1{5—33:39}.-2]|=+22-52:m
;MIEE—IS-[2~"~5—33+2]]4'3—2-i5--15:332

70 B2 +23-1%:24+ (334324201 ((3%.33:39) - 22+ 32. 29 - 1)

T B2+ 4-23)424;23-3] (342332 + 23 .33 :62)
22 B2 43634 (5227010 +[(3-3-1-20)+(25-13)]
73 43+ 2223 (2. 10-8)—(23-23-22.15)1+ 32 -5 22

|74 _Ji5.(15-22.52:10)-3-(32-63:6%)] - 657 ; 5%

75 11320234 {[(22-52-22.5)4(22.3-2-5)]}-(21-32-2422-7)
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